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Note : This paper is of two hundred (200) marks containing four (4) sections. Candidates
are required to attempt the questions contained in these sections according to the
detailed instructions given therein.

qe:  TE TUS {1 W (200) TR F € TS THH AR (4) TS § | 3nAIGT B TAH THIE UL & W
37T 2 T Toregye e el o STAR ST € |
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SECTION -1
Gs-1

Note : This section consists of two essay type questions of twenty (20) marks each, to be

e :

answered in about five hundred (500) words each. (2 X 20 = 40 marks)
39 TS T S9-a19 (20) 37hi o g e U9 & | Uedeh ol ST oS U & (500) I3t |
TUAT T | (2 x 20 = 40 37F)

Analyse the factors contributing to depeasantization in India.

IRA T FTSRehRIshoT oh Ufsham H AT I JTel SIREhT ol faversoT Shifsd |
OR / 3gan

Does industrialization necessarily lead to capitalism ? Comment.

T SRRV A T YSTaTg Sl 3R Wo e & ? feuoht fafaw |
OR / gan

Discuss how development has led to displacement of traditions ?

TorehTy = TRERTST o o ot 3T o WehR Wt ok & 2 ferararr it |
OR / gan

To what extent has the Indian population policy contributed to the improvement in

quality of life ?

TR G AT 7 STe i T[Tl o GUR § o FHT de AeH 51 & ?
OR / a1

Bring out the cultural determinants of gender roles in Indian family.

IRGATT TRAR H foTria JiHemtat o Wieehiceh FMETReR i T €9 9 e FY |
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2. Critically examine the role of religion in the present Indian politics.
A AR TSI H G ! JTHeRT T ST TET0T it |
OR / 3gan
Discuss the impact of Information-Communication technology on the institutions of
marriage and family in India.
R H foamg ud uRar st deenetl i YaaT-Sar Frenfimen o aure o foe=mr it |
OR / 3gan
How has lack of development led to rise of militancy in India ? Discuss.

TR Y ToIhTE 5 31919 3 T Uk 3TTshTHeh f& T ol SIgralT fear & 2 = shifsTy |
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Note :

SECTION - II
LCE | |

This section contains three (3) questions from each of the electives/specializations.
The candidate has to choose only one elective/specialization and answer all the
three questions from it. Each question carries fifteen (15) marks and is to be
answered in about three hundred (300) words. (3 x 15 = 45 Marks)

TG GUE T T Ufessh hTg / fowiesran @ & (3) TR © | 37e1el Bl Shelel Weh Uleseh $ohTS /
ToroTSr=Ta sl TRt ST o T UeAT 1 SR ST € | ek U9 U5E (15) 3Rt o1 & 9 ST
TR AT A G (300) ITET T U | (3 x 15 = 45 3i%)

Elective — 1
Rural Sociology
ifsw -1
TTHIOT TSI

‘Jajmani relations are becoming contractual relations.” Elaborate the contributing
factors to this change.

ST Frary GiagTees g a9 W e " 39 URad & Ui TNTEM 4 ot Shilehl ol HIa&d’
foreroT et |

‘Rural leadership is faction-ridden.” Discuss with suitable examples.

TTHIOT el Setail (Tea<T) TR & | SUger S0l o |1 feraem hifsr |

How are the recent Peasant Movements different from earlier Peasant Movements ?
Explain.
SCTHT O TR g YR Jaalt b SR 9 71 & ? IR Y |

OR / 3gan

Elective — I1
Industry and Society

= | |
T 1R |
Critically examine the views of Karl Marx on the role of trade unions in industrial
societies.

STrETTeR TSI H SiHeR Teli ot fHehT TR 1ot W o TRl ol STTetreTceh TRIeToT Shifsra |

To what extent has the workers’ participation in management improved the quality of
industrial relations ?

TeeE § SHfHehR s T = STEfTe Trawet sht ura § el aeh R R g ?

Critically examine the Indian Industrial Policy since independence (1947).

TA=AT T (1947) o 915 W ARG STENHTeR Fiid o1 STAraTeHeh TRI&T0T Shiteid |

OR / 3gan
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Elective — I11
Sociology of Development

tfcssw - 111

TorepTar =1 wHTSTITS

What are the limitations of the dependency theories of development ? Examine
Frank’s theory in this regard.

forhTa o TR T ol URETAT o1 € 7 30 G5y Y ek o 1T ohl TRI&TT hiterd |

Has the State policy of development succeeded in eradicating socio-economic
disparities in India ? Support your views with suitable examples.

IRA H G- [ToadTeT i GHE A § F1 e i T =ifd T 85 & 2
319 ITR 1 Y H SR ST JI |

Critically examine the socio-cultural barriers in the process of modernisation of India.

YR & STYHIHIUT i ATsHAT H FIHITTR-FiehicIeh STaRTEl o STeIraTedeh T &Y |

OR / 3tgqan
Elective - IV
Population and Society
s - IV
SEEAT 31X G

Analyse Demographic Transition theory in relation to India’s population growth since
1901.
1901 ¥ R ot SUEAT TP o Trae § SHiThehT TshH0T FgT=< o foreetoor it |

Critically examine the effects of declining sex ratio in India.

IR H foT7T-STA1d | FR-R el 3 TTall 1 STTera-Teeh TRieToT shitetd |

To what extent have the measures taken for population control been effective in
checking the population growth in India ? Explain.

IRA T ST Ggfg 1 Ahd B St =1 & o fo7a 73 Surar el ek Tefrereiier @ & 2
T I |

OR / 3ga1
Elective - V
Gender and Society

tfs® - V
o 3R T
Gender being a social construct, can it be changed ? Substantiate your answer.

TR oI ARSI SR &, 1 34 I5ell ST Tehdl € 7 370 3TR i FHI0T hifstd |

Discuss patriarchy as an ideology of oppression. Suggest strategies to deconstruct
patriarchy.

T i fTaRERT & w9 # fugear @t faa=mr s | fugasr o R (fewiga) = &t
oI AT |

Can eco-feminism contribute to sustainable development ? Elucidate your answer
with suitable case studies.

T TITERIE ARIATE YR foehre § TR 3 Tehel € 2 370 TR i UG Tehel ST &
T T i |
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SECTION - II1

e - 111
Note : This section contains nine (9) questions of ten (10) marks, each to be answered in
about fif"ty (50) words. ' ' 9x10=90 mark's)'
AT:  TH TS ¥ 3E-39 (10-10) 37hi & A (9) TR € | TP U T ITR T IO (50) V=T H
AT | (9 x 10 = 90 37=)
6. Explain Goffman’s concept of ‘Dramaturgy’.

JANTTT STl o IR H TR i STLROT hi SHTEAT ST |

7. What is the ‘Crisis of Marxism’ as perceived by Althusser ?
HTSRIETS & Tohe ol 519 TR T TSR = THel, 9€ ¢ ?
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8. Explain Derrida’s concepts of signifier and signified.

Toheeh 37X Gehlad o I H SRET ohi STTLRUMST ol AR hitTd |
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0. What are the major forms of cultural diversities in India ?

YR | FIRepiaeh fafaerdret & g T .1 ¢ ?

10. Distinguish between the indological perspective propounded by Louis Dumont and
G.S. Ghurye.
T <gHT 3R .08, T3 gRT ufquied AR foen oRved % i e FfE |
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11. Discuss the causes and consequences of domestic violence.

TR & & FROT TR TRt St fad=mr & |
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12. Elaborate the causes of regional disparities in India.

TR H &5T STHAMATS o HROl ol [ ¥ ared |

13.  Clarify the meaning of ‘white collar crime’.

‘Yo I SR T 37 T i |
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14. What do you mean by indigenisation of sociology ?

TSI & TN § 31T 1 GH & 2
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SECTION -1V

-

gs -1V

Note : This section contains five (5) questions of five (5) marks each based on the following

e

passage. Each question should be answered in about thirty (30) words.

(5 X 5 =25 marks)
3@ TE § HEfaiad IRt T SR e (5) U99 € | Ueieh U9 ol ST e o (30)
IR T ST & | Tcdeh U9 O (5) SR 1 E | (5 % 5 =25 3ih)

In Theoretical Logic in Sociology, I (Anthony Giddens) suggested that the positivist
persuasion in the social sciences rests on four major postulates. The first is that a
radical, epistemological break exists between empirical observations, which are held
to be specific and concrete, and non-empirical statements, which are held to be
general and abstract. Only because, this break is taken for granted can the second
postulate be made : more general and abstract concerns — philosophical or
metaphysical — do not have fundamental significance for the practice of an
empirically — oriented discipline. Third, questions which are of a generalised, abstract
and theoretical nature can be evaluated only in relation to empirical observations.
This suggests that, whenever possible, theory should be stated in propositional form
and further, that theoretical conflicts are decided through empirical tests and crucial
experiments. Finally, because these first three postulates supply no ground for
structured scientific disagreement, the fourth postulate suggest that scientific
development is progressive, that is, linear and cumulative. Differentiation in a
scientific field, then, is taken to be the product of specialisation in different empirical
domains rather than the result of generalised, non-empirical disagreement about how
to explain the same empirical domain.
While these four postulates still accurately reflect the common sense of most
practicing social scientists — especially those of the American variety — they have
been sharply challenged by the new wave of post-positivist philosophy, history and
indeed, sociology of natural science, which has emerged over the last two decades.
Whereas the postulates of the positivist persuasion effectively reduce theory to fact,
those of the post-positivist position rehabilitate the theoretical.
Scientific commitments are not based solely on empirical evidence. As Polanyi
convincingly demonstrates, the principled rejection of evidence is the very bedrock
upon which the continuity of science depends.
Fundamental shifts in scientific belief occur only when empirical changes are
matched by the availability of convincing theoretical alternatives. Because such
theoretical shifts are often in the background, they are less visible to those engaged in
scientific work. It is for this reason that empirical data give the appearance of being
concretely induced rather than analytically constructed.
“FRIfeReT AR o W@ §, 7 (T8 few) Iamn ¢ T g o= &
TeIRTaTe] SEI0T IR T ATHEROTet W Meika & | el 7 ¢ foh e veron o s
A, - faess oM & 3R = vt fafere ud et 3R TR-3muiae wu a9et
ST & AT WS Ue 3T WHe S € | 7 3o TR 3 forea) ot vew Wi foran ST €, ot
T R STRTEROT A ot ST Tl € : STST ATHTT 3R ST WRAPR — I a1 s
— T TR €9 F e a5 & =agR & o FiE Hifelsh Hewd Tal ¢ | e, St ue

TR, 3T 3R Yg1i+<dh Ui oh & ST Shelel ST eTull o T H HoaiehT feha
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ST Wl € | I8 Far § Toh 519 off Wy &, N i IR o &9 H Jqa 1 died 3R I8
Toh Agrfeereh Tt o1 THTET STTEeR URISTUT SR G (IT HewarquT) WAt o SR foa sfrar
& | 37ad:, i I el i SMTERME TS IS THeHTd & fo1d g SR T8
TET S &, et SR STt € o Aieh Tk wfeier gian &, 372 aeh 3R d==dt |
it TR SRTTes & B Tasisienor st fge=T Sifere i & fafeTseiensor st Ufdthet AT fora 7o &
TSI WA, “Th T ST & i AT fFg TR FAT &7, o IR H SHEHES
TR I AfThel - o |

Ig IR SRS, Safh 31elt off S1fereRieT H1aRd |THITTsh SRRt b1 WHTT ST 3ieh-
TSI T o THSTIM i Fol ofeR §RT 3¢ dleral | FAwT &1 T € | 9 oTex Toet J1 qerehi
% IR 3R T 3MME & | UTAET STTEROT Tl SR Seifeh fogT= bl gqreqol & § e
T o T &, STR-UAeTanal fefq Yegifeh ol : Ufdfesd Fel & |

AT Uidegard fah eufess THoT W oemuiRa @l € | @ R dieEEr 3
TavaTaicaTes &9 T TS 5 & foh wHTor o1 fagTeTst STRaieRoT foehel ST SR €
5T SR T3 <Al T ik et ¢ |

AR gROT | Forsd uRac s et gir & s/ enwfess aRe, favardicnss
HG1f~eh forehedl ol SUCTSAT o W1 YHIAT &I & | Tk UH YgTieh IRa e ey
& €, 3 A ol S A1k 1l § o7 €, S GRTIeR 8id € | J&t hRUT ¢ Toh Tufeh siiehe
T BT I URA &F i FeliTd 3o & ST Sveireh w9 § 5 g+ @i |

15. What kind of break exists between the empirical and non-empirical observations ?

AT SR TR-3THIIh (SHITHR) UeToT o =i vy TR T fareess fomm & 2
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16. In what form should theory be stated ?
TAET=1 ol TR ©0 H TR fohdT ST Aied ?

17. What results do the positivist postulates bring to theory ?

TeIaTe! MTHROTSAT o HROT g | R TRomy 3@ i fierd € ?
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18. How do changes in scientific belief occur ?

SRR YO H fohd TehR IR Sca=T i & 2

19. Distinguish between positivist and post-positivist approaches to theory.

g & Toaerae! 3R STR Yeerars] SUNTH & e 3F<R Y |
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